Tableaux des Puissances de Dix (B)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 10 100 1000 10 000

4,1

2,67

3,26

8,06

1,13

X 1000 10 000 10 100

7,61

4,75

6,57

3,33

9,22

+ 1000 100 10 10 000

1,11

2,57

3,82

4,07

9,96

= 100 10 10 000 1 000

3,92

4,12

5,41

7,66

8,65
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Tableaux des Puissances de Dix (B) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 10 100 1000 10 000
4,1 41 410 4100 41 000
2,67 26,7 267 2670 26 700
3,26 32,6 326 3260 32 600
8,06 80,6 806 8 060 80 600
1,13 11,3 113 1130 11 300

X 1000 10 000 10 100
7,61 7 610 76 100 76,1 761
4,75 4750 47 500 47,5 475
6,57 6570 65 700 65,7 657
3,33 3 330 33 300 33,3 333
9,22 9220 92 200 92,2 922

+ 1000 100 10 10 000
1,11 0,00111 0,0111 0,111 0,000111
2,57 0,00257 0,0257 0,257 0,000257
3,82 0,00382 0,0382 0,382 0,000382
4,07 0,00407 0,0407 0,407 0,000407
9,96 0,00996 0,0996 0,996 0,000996

+ 100 10 10 000 1 000
3,92 0,0392 0,392 0,000392 0,00392
4,12 0,0412 0,412 0,000412 0,00412
5,41 0,0541 0,541 0,000541 0,00541
7,66 0,0766 0,766 0,000766 0,00766
8,65 0,0865 0,865 0,000865 0,00865
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